
2.

1.

4.

5.

3.

ffiq qd 20i7-18 t Sqtr w'rq .rq laorq qlv{r d 1}+r<w }g
qFf Fr{Rmr

ql-q<r or qrq :

]Tqq rq lifilq qiqrT

q]qqr or sleq :

gn qrq+r or $q s*q rrq d .tr.ff {,f s e!.FT. qq:erefi. ftrftn q+6
gitft {i af f}r Fr il.ffi{ d 3rd {fl Git' r,'r!,'t-"Ja r-+n Bq- o' r++ irq t
efiqk or+ d asn 4E tr$fi q6 S {rH'T qrt{ ftmrr d.f}r dlwq ardl q ol
ol !ffad ar+ i ;qrqTR-6 {fl{ q{ q:r +1 TrqaT al lT€flor rsa {q q{qftfi
ffild d erafi ancr ci{ 1u ufto r+zrl 6T Tqre- Frfi-q:T o 551- murtffiqr .rq qeb t +rscriq6 qffie am i
.q n.'l.ft Tqt s EqnT $ffr urC eqFlfiqid erfi/rltr& ier t fr qss
ni rrn tqr W Trffi ftha {nd.rn gqo gEfu grrr il= d r{a d z. +,
6 qq 10 gqTs qffi d F6d d2rl 5. 10, 15 rfE zo ;ii,$ 41 F.Dd. ftc.ff.r qpftq,arO$-- ++ 'ne q- " eg^ Eq: rlre r flfq <11 -rsr g2r rr+. .! .Jfltr p ug-*r -E! . rrfiF T, tr-J^ .-Pr, Tq,tt "rer+
-i liu i T-i-, ; qil r !-T .5T-- Jit T- p -f-TJ, -'€ -l

ordetq ,

{.q d qlff ffi d : g,'Fs qNi rF qrfi qar fo{ d enqq I

{1oo d qs ffi : qe,'T Tqrer. orade, sfrqTqTE .nqTd.rq, ,TEw. qFiqi. 6fcER,
rt\n ffiu ge 3'{RqT n ffil qfi{. fi6rcr{, co f+o-qei cs {ci S,q)..' -rpr t.l -aI] q, r- ?t fl rit rr fi--$IF |J.r I- .rTa+

gIf,.TT i

vq d rlii iln d E{dtln erTarl qFrT t'Ilrd qvm, rff rqr n ita qsi
Tn .rp Tfl D+' J -rP aa1 ffio p flo f1q -1q,

dq+r or locrqqq ,-
(i) qlwr ot D;qqrn r.rrq d lrff ffii { fuolTa fiom tr<rPmr{t sTlr fuql
T.d-" T \ s=qo .ar"pr dFT. qrdt qd{/gr,'rs qffl adTg q,l {eTrqn,/ E,qTJqa EsR 4l {erlsrT F( rIrF srq.r Tffid fu-dT d fii-dr .rq. fi+w orqH n
lrqfJd iri.n

(ii) fudr.tzc liraq trilerort rnr q-o eirls-r l:l or r.dilq fu'dr d fu-el 3rr"ff
no qErDmt d ertqerm il .Tfud fi#Iq r+tFl.l rTffd flrT isql Gd,T. li$q
nl.dT t m* : fi"oRr rsrfeaffi, ]res nFrq ri,) neTr fu.Ir qcs q{rfhFrfi Tq
s-elT 1i"rfi d fu-dT {d{iq qflJaror{i €q{q fi 3rrffii q,l sqfilrf n ,TEd #qrd !-qlFi{ r{Fifi o1 d-n n fi'qnr:f trFd atn {+tFi{ rrfi-ft em qrqr h
dt .orffen 

.q Giqtq"Td -frqd ri-rd?-+ dl-3rjcr{1r ci ffsT {ifu fo o) erfliid6fr
(iii) {SIFr.r rrl}ft d idr fuar r+s w trdn qrE d rs ff nts iFT enqifua o1qnq, ffi Erlnt + qrq s-rffi sn rrfrsT,/Eiiq n c-ri{fi qit gqRe..li {qffi iq ft) #i or ffi srffi r



(iv) io anr :zlr {fiqd ftd sd d tsqrT+r g 6 qqeftqT Asset {T Fq Fq r{+ft1
i ecer rrq d orc- v1 erer Cq qat i fuqr qn.n I Frdlq rrtc. Fraletgq, .ro
lc- l;1- r c.r q.q I{Tq t 'h *1 rur r .Fn ToT qG q -T- ?q?l
u arXFffi i +q vffi o1 is t-!e q rd fuFFT 6T q.iq <r qr l5qp .,111,11

'lq 
d sqqr< Asset d r{pr flI6 G rFq qftfil d r]{{$ or wgtm ffi rt+

aift+{ elqr I

(v) qdfudt or rns Fq qlifd td srqer fuqr .rd{T I tFs rrfqft $ €d*d do d cqEr6
qr F{d qf-BEl. fuor .r.q fdom qslfialt qr s{d cldFE}, q ftfunro w dlqr
q{r1il4l{l qT s{d qldBlq Ein ffqr sqfi d qldFfu $) 

'bq 
{erd rR A qri oil

ffil no d ffi cs c]I ftrfddro o) repq qq d cd ol fuffi riqftd fudr
d fudr rrq ftflq q<iar.Frq q,1 Etff

(vi) dfqcr Grfl,fd ffi lff a{d e1 rprqrf srr.n ;nq qffiqcr gddd firrtffn d.ro
qq i a'1io rli q, 

"fi 
qf:nq or grmr vffie+ ed d 3-rw{ w fi fuqr qi,T 

I

li}" "-: E. ,.' 1- r J<t -,rlf iFr rro rfr: r-=r , I c,r1f dTI -t-
"fi {4d d {erTqr rrf f,q qfuMcr ':rdfd :irFm qq q ffiq qr+ fu-fts'ft i
+ftqq 6T g.rdrq 3-$rli6 €q n fuqT Gii,Tr glPI * r{J+dl .rr fid{uT Back ended
fuqT qtrn 

r

(vii) ifi dru gtlrrs qiFll / ql!n,/ Asset rFq d qsqra r qrq 
"]lfd d dTdt 6l s0%

a!{ 3TqftI-d qft/q{ffi d drTd d 66.66% sfug d r,q 3T{qF 4t {ftr
fiyfi oti t-g <ror fir+ eniec d'T"T sldr sqT $r $rrd E]t f oirbrrr" d
'rfr nft rifud rF'd E\ rrqFtn fudT d fudT rlq fttfiTrr qqrGmT{i .Ft sr{ar
F'ltd {{qEn fld tr fidl .rq fi+re .r<TEmr{l ffitqw qqr"r qr s'fu-f, .F{i 6{
ffi t6 ot s.-rff 3Tcrrlr d erer +rffi ftTn 6{i al orftrJ Ri Eri-,ft I

(viii) td qar t?qr qrq q$r din, ffii qg oq qfti+c i nq lrftfr d rrrt tr{r+i
ifi F{nTEI{ C E} I

(ix) aqo ri $T sTqrq FT rlqq qr fi-qT sT+,T 16 tqft so€ d serqrT t flFqffi +r €cdc 6q * o.r cr-lE dI1 qsf (fi F{.t ffc E{ o rJ qffi d
eJ-l,.f Tf rrz rG llr FrF qfrtE F T--l 4-d- F -Fi'r-t

(x) gs dtw+ d neo litrlRa r+ffi dqf,i 6l frr ft"i? i ?q +fl I ft crSo no
t aq d eisqr sd T.r ol ftqffto aeq tFr 6q il 6q soz d+ grn fafl {{Fns!r
d 3rf,.fd fFqTl-d fuqr qrrr,T r{dFrd it ffi 5o{ oi rvrr<r d{i qrd dnr-6i 6t
d"rlT drn o1 Wt nFI rrqf,el Eli sdeff cqrlT *qfdn fuar rq fifirq q<TEm+ d
Elqfirq E qqfdd orqr +.n qtsrT d fuqrqqc (Asset cr€ation) d warq ff qftng
o1 {lRI 6r SiTdrq fusr Gif,TT

(xi) ffl asd/eq0 rrrrl {nrg d erwr d ftq ftrJftd aes d q.t d qri d
gqn< c nJ tqtr asr{/ffi +dr {6d {afifqd dl Gd,n 3r\ rdi ar"ibtZ ao an
31T<F sr EFrT qrq rS +fl| dl"f6T 4T nftIlff {r dtl gF.T:nnf cfa qnit d
.-.uF rr Edrr aq r',' t 

0 'f,,.,*ll{\". -/VY
Frivro.

.rq iiom Frivrroq.
fiar<. qr+r 

t



qriec qr qm.ft

sqlr rrdr fi+ore qtqil fi=ftq Ed zotz_re
fuar .rq fi+ors oiqFoq

,ir,/ l1Tfi..

liidl .. ... itr .. .. . ., rioro
s lrr]q ftq ldqT{] qlq{, ffig q{ zotz_ta si ,fd ...... ... , .. am€
on rwrn o1 rtr+ ig s,rd.{q q, qrq j+qr 

r

srl.lr*t:
1 oriel vl al dnaqfrt

' Y"gY Y/o'E-R 6dl3narffq nqlT,rr o1 cro.-fli Fr FwTtr{w nrei{d <l Elqr qli 
I

3 q+{€.ir,irsEalurqjyfir 
"g*r%#*H,a do or ffier l€t tli d nqq i we{ ,r, I

5 vfut ri ffitricr oi ffi I

6 g?q^qliia +1 rrflqnr }{t d $qfdn qRrer"T llR ogi qq q{q ldt ty?nftd +i d {iEer n l{qFr dl 61qT ,fA
z w+r.to titw+ dq *o/sFFqr q qq {ft sq{q-dT d rrqer

d qrrgo +1 Erql qfi 
I

erld <q q? q!i]
qqr rdr fi+om qiq+r firfl-q Ed zorz_ta

fuar .rq fuors orqloq

d ${,r tq liorq qlsrr, ffiq qd zorz re sd-d ..... . .. . .. .. .. . ... {mr{
rpnr{t !n qifir ig 3 t{q c' qq fuir

3l3d.qiF:-

1 qri{c 'rr ol El W qftl
2 TflEldi ,nlcl ,rf,inn qrlfflR fld/3{.tRfq llsr.n qf, q,1

qaRTeRd <i Frql cfi I

3 q{t{ {{qqt Rn< iF1 srqr qli 
I

a io or 1t+ier €i di d lr<er i ncq qr
q nTr-T: q.,.t? .f oF I

6 g.q ]TFlfi !fi ]resdr, dfi t dtifuc qFreTor ,lR ori G :l(lq {er i{ltfid +i d Fqtr d !qr"r d unr qfi.t
7 .-' to, "1 c.r elirtrr p 

[D] ,|{r ru-.'dfr r ..]!r
4 qrt{6 fi Etqj qfil

crwsrf or ERreR
omlf,q or t6{ qr+d
€cqr (qr i qd€ler



q;I

5oo/ 1oo0/ 3ooo/ 5ooo dLi $'ril f--- 
-

- E -L=l

gqTJ rf4 f4519 qlqql 2617-1s

furl .ro harc Erli'firi I

n ffir.rd 2011 1s c ,rqrn ?qn s-n dni. ,r-r lla F!;r€ ollrat .ratr. FrEl
.. !i d'rrr errft.d qr{.n qr-drlal€d i (EcIr qt drr Ft Fd d) 6r)

1i1 oz 1a.t et*f-_-J oa *rrt; .ri?u f l oo s,* +"$ f --l r0.,ft {it fJ
(ii) 05 ard:rrd- f J ro asiqr,rc f-. l rsott w:. E ,o {n} qrdi f l
(iii) itdr.r 'Fir f l s "'a,:,--" fl *.+ eo qdl

#.'nr EFFtu+
rtvl

.rlirlrr+ a;r qa ar-re el
do :evTwcr,rn w d'n ari ?,

6 dl?

7 3nil-!; 6i T,l,ril

8 s-q!T/;Ti.r, 6 ,rltd.i 6 rfir .rqrar irlr F",.1)

9 6n 4{ n,ri i{ qii A.rr .rr-ar q'frr (los) i

i2 riqlr ri 3ril{Er d !lr] {- iirrEd *:r iht rr:r (i.l--i)

13 :Iiiqi ,l {crf,'d {] r) h ifldar.-r,r1

i4 ?iriiiF lTrr iii lr ril i i o
(t )

15

16

',,,"."r f ] *:irrri;rft [ ] 3rTfrd -'rffi f l

11 ftiqrr :l firrls o q* { l61csJ

'-'F:rr rn 
"ftr{irc 

ai ,li il+a},j]j.-)

tuf,,rE"r d.r ri rlq/l{.n'ld :ij tird ls {,l q \:iel.n *aq

ft 3lr+<i qf, 'l {t .r$ lnFr6R $11) e irln .rfd m} sr.t q{ ,}l 3ni<i ,rr 6} rc-{ or ft+r tirq r qr"J i}
{6 .fr dFrqr -6rin/6rfi { i6 d €D-S d6 nti ti.rid{ T8 {r

dEd 6G ilii q{rerorff ifi FRrfi

s"a qftft a €rrs i I J ,r :atr1qtirtn-irarmtui [ ]
nrn ra t *r;ic i. I l

'l,r{rd deqt .ril qia di .l]ft !q sdl qrar I du Fd q 3raqln 61nr {

crrglfta or-i ar.} qi.IfiiFrff 6r E*ntcJr

1 -{arfl rFd rrl.fic qrl3ll]T{ arJ/omlia relr c" qt w-rofr_n it rmn nlir

2 indln \ec.ll .rfu d Em efit

3 i* 6r i:..,i,-r -ril Fr:i + {Ru q srrr !-
4

5 gri nffi iir ii,iT{nr. Jfi n 1ffi vRErq ]rlF ir€ In ffiq -fr i irr- ii ll.q i rq- :f.l qnr yiii

6 r,rir'-n 4q i{ itn/sr,nLN ,l .t+ dilr rqdqir d ..llq,t q{rgiF ,bl Ellr qi;

li.il



1

E{q rrq ftors qlqfl 2017-18

s.rrd {w d or gtr$ qffi o1 fu qffi qftqtq{r efdi<r
M:r@f6 Eier

1 3nlTtqi qlqdrq. 
] er * e qfl : r- dln
d wqq :oo Hi 61 .lalq i ssoo iftd{
Eq tr qdo qffi os Rc dl fiTt$

t ri,li carq qr ffitr ftErr qi
ol A ;Fq fuqT qitn

2 irflf ol qrr{rs:-

qf, adr{ t .Ed g!,lis qffii ol Tr@l 2

- q{T Trv oftr<- 1"5 q1 gae= 12 dlz.

3 qtir rd{ii qfak{ qm al err+lqom

1) qpT ei o1 s-qB q-
d{I ARI _ 20 lito o

gqr qFT- b m0 qlo

rrgiao vE o-ror- 5fuO qlo

(r) f-gs or4EI ii- Etl zIT{ - 15 fto fio

$cT ar?r / lT0 qTo

+gioo rg o-nr< 1 fFo rrio

Ffdlq qTq<rs :-

w sqd r{i{ d qffi 61 oiqd qo 50,0001

qft dd{ qF d Ml or Xo so 35/-

-rrgidd cg 3TIE]{ 6T 6tqd qli fto no i50 20L

-ErI tnlr sT Xau rli fdo lto 50 3l-

-qcr 
"nT 

.Fl lar vF fuo mo 50 5l-

{EI-{STE {q q1 ftld<tr w "rq (qft E{) qfd afl{ €o 2,500^

qfr 'rff nT ffi ri 3Trq



/ s--r r{ir 6r 02 R!{s l?li;fu dsr*:fu@€
I

1q {firo vd :-

gtrro rffi oz
uii gur" rffi r'o 5o,ooo/ d <a i

Ffi iaqF 3,500 dler g ii qi"t er.qdt (2 x 5o.oool )
1,00 000/-

2 !{ Arl eitue fiqr ]rtrd) Fq {q or 6% d i so 1.ol],ooo/ x 6% 6,000/-

ed {rRr (Fo) 1,06,000/-

[+ ttrrg +1 rs[T qr L{q +1 w i-qr,

60 ftfiur eqo vft7o+orft
1 dfft w Ea [ttd a:]q 50 r 06 000,/ Fo i.06.000/

2. .Ir{.F trI qll{r so 10.600,/ (10%) -o 6 J6o G?.)

3 {n t qsnr Elll 3lf<ln - 50 53.ooo/ (50%) 50 70.660/ (66.66%)

i'F *nr F,o 12,10a / l4ook) F)0 28.eaa / (,27 34a/d)

( ) cfi sq Tltr \'q {rqr 61 aisrroor fu vgor} ol <r+ Eorft} or err+o< fq"c tr6r< d,

?t0 wj or fd+<"r qEAIT anw rod
I gws rffi 2 2

2. qtEr, qtld ) 1

ed: 4 3

( t) 96 sS d gql qRr. sq qm \.s qgfud c{J qI6R (<l.Ir) d oTl{{{f,r cE ssiFr ad:
iFo (t (Fo) a@ Fo)

(s) qgl -Il{r 05 1bo rro ffi r+w go{ diftr
dl <r t *r ei d sqFI roo Fi d ft\
(5 X 3X 300) = a5 ftird

,fi Jfudc Eo soo, 29,5001
{s) q{Ir qlrl 07 f-o 1llo. cli 4{w {flg dili-r
in Er n t[Jdr s-qB os H d lir
(7 X 3X 65) = 13.65 lftiee
(o+u; = 56.65 tuieE. 3r?,td 59 i*ie.r

2 ("n) E..r ...R1 20 lio rro qi- qll{ir aflE t'rilir
qj1.<{ iJ *r ii qi s-qE 3oo fui d fii,:l
(20 X 3X 300)= 180 ftidd

qfld ftiie? no 3bo /- 63 000/-(s) Fi] "lrll is 1-d0. qro cfi qqsF {6rg qidF{
on <r t ligdr oufu os 1di ti lir
(15 x 3x 65)= 29 25l+i'ca
(o+u) = 299.25 iftieq, 3tqk 210 ftizq



(v) qFI 9S .{q:

(r) otl,-

firor .rq f,+orq qfllemffi
6r qFr !s qfirq qFgd 5E{

3
3 ]rdad qll 3Tai

ffi) l]:r <i d'r i-qB n rlir vq os loowo di or+
aors ctilF di s{ d :oo liit d ldq
(5x2x300)=30 liiled

qft fui-d 2OAr / 70 000/

(.{) ftEdl s'sfd n yfi qq or tu-qo qli .zri+
{or{ cftftr di i os tui d tuq
(1 X2X65)=130ftied

(.r) qli al'cr o 50 D;o rro fat?r d1 <ri 1t.
(0.5X2X365)=365 laiea
{d rrglin q{ q.En
(o+e+.r) = 34 9u ldca. 3rarid 35 laieE

qq t'FT: (1+2+3i 1,62,500/-

(lv) {@ Frs 1'< q< :

(tr) gq-rs q:I3it w tz qliqo qi <r i (1,(]o.ooo x j2%) 1200Dt-

(q)

if, 'rzq 
q{ qr r: qftl:ld qi Er ir

(rnqraT Rrli 42 4AO x P%) 5,088/-
(ri:rfftrd eii/q{fl1i 28.gaa x 12%) 3,478t-

ed +{ FTrqE qrii) 17,088/-

ef, ql.T (3r${lrd nnid/ q{Gnid) 't5,478t-

(tr)
qa wiio {rr 7.000 Ao or Xe. ro :s7- vii fie|ri <t it :s *
7000 dlo 2,45,A)U-

(e) i qrdt d] 1dt $o 26.000l cli fld d EI i 26,000/-

o ng'PF.oe000.sfir,in<l{t
8000/

(q) .ri iT rl ltul (70 x 20) 1,4AU-

2,80,400t-

(2) .qs :

(o) qRl qs slil q{ qq
1 ,62,5001-

(9 qg Aqr w qd (o%) nftrd 6,000/-
(r) {€r {srs gir qqJ lirt-d !1 e.i qfa d 2,500/-

oa qlq, 't,71,0001-

(qrq eq) = so (2 B0 400 - 1 71,000) = $0 1,09,400/,

{dT{ - fa 54 qir {rE)i{cJ< dFr
{rfld fia Fo (1,09,400 - 17 088) = so 92,312/

3lE0 qr]n/r;rsr]a {c0 (1,09,400 15,478J - Fo 93,922t-

{g cdl{ 2 s{d iw d EqRr qd{l o1 W E6d T!{rhT 6.i q{ \.o q{ { qrqrq slq.n ftI{ so
92,3121- \q 3l1qfud qrfi/w{qrid d fuc E0 93,922i- or iic|< drq 6Fnt



1

sTr rtrq ft6rg *q 2017-18

Ed aFdJ !4 Etrs d{ft st s}q{r qil.fLq&t'rvan@q
rMrdlubsq-tqr

1 lomRqd qlEdrq._ sqa cw di qdtr Eqr--E-tqrr-
crsrd 3oo fii dl e,'trf* i :soo .fier

Err ?:ft rq{ rrqrfi 65 i+r El lffi
}TFI n -{.tr qzrq B4q qT lilqlr-qi
effi or fi trs fuqr Bt+rn

- Tfi sTrJ it qa gq'r*r qSeft +1 T{<l

c-^ E; - e ci i-- ."rTr *r \rtr-r

(,) Ru +i d

\q i]qd qF d qffi ol qiqd - 50 50,000^

-qfi tr]eq (-i +1 faqi fl Tq
ngiird qg snER 6i o'lTd qfr fuo rto_

ErT-atrt 6T T"q qfd fuo no-

t1sr qnT or Teq qli fbo rro

{q rsri gs q t?fucr w qq (qf- s{) qft 96rg 5,000/-

qfti.rff nq tffi q o* -



2

!-lII TFr 6r 04 Eql5 {d{ft d qiq{r o1 aoq tsr qf{ E-6rd

0) {dird qd :

V{' E4,d 61 T,irq{r (lr qq al $q-tqr:

( ) cld s{ 4rr sE Enr ol 3rr{s{df,r i{ qgdi +1 qw {6r&1 c'r srfdr Frq tr6R ?,

1 E!,-F qHl oa
qli gqs qffi Fo 5o.ooo/ o1 <a i

ffi 1iq]l o.soo dter qu ?i ri afidj) (ax 50.000/-) 2 00,000/-

q AT (<Ttu- fraT Ttr4) as nd fl 6% .fi ia rl $o 2.oo.oool x 6% 12AOO|-

l qgqmr i+rq rlq sq qq
28AAAt

Eq {rtrr: (Eo) 2,40,000

60 ii-{rut qlo qrfi/q{qrfd
qi ir rtr td dlrn qq (!'ls rrtrd) s0 2,40,000/ 1n0 2 40,000/

2. drIF fl 3tnsF F,A 24,AAa / - (,10o/a) $o 14.400/ (6%)

l ir-q Ti6Ii EI{t q5E[i 60 1.20.000/- (50%) 60 1.5S.s84l- 16666%)

i+ arq Fo s6.ooo/ (ao%) rjo 6s.616/ (2734%)

vq ot ft_+t"r qqIT qs ror{
qqrs qffi
qrEr. {ffi 2

Qa:- 8 6

(l ) gd sd d Eqr 4r{r. Ev 
"r{r 

\q sgfifr( cg qlER (Er{r) ftl 3rra€{dr q4 v*wr aa:

q{ (F0) 1@ Fo)
1rr) qqr inq 05 ftro no tft tran+ ffi-
qi <a t q{ ii al q-iifi 3oo 1dt d fi1
(5X6X300)=g0jdi-{

qli I+rer] 50 soo - 59 000/,(Er) Eqr 4Ri 07 fuo qro qft a{I{s Etrd qfrfi.r
ol <1 n ftES c-stu 65 ldi d h{
(7 X 6X 65)= 27 30 Adcd

{F+s) = 117.30 lfu-d.3lc-ld 118liFieii.

2 (6) Eir -nrr 20 l?;o qro qli o+ls gr(ffi
<r d qr ii qi a.qlt :oo Hi d lil
(20X6X300)=360i?iied

qfi th-a qo roo 1,25744/-(q) rrl qnr rE fuo rro qfi {q-.iF iflSvlif-l_F
sI t liEdt q'qB os fti d ftl
(15 X 6X 65)= 58 s0 fti-d
(o+t1 = 416 56 ftied, 3rqfE a19 fuje?



(v)
(r) 31rs,

(z) <+ :

3

3 rrdad lll 3i6i
(6) *r ti ojt c'dFi n cfi ql os l-orro qii q{s
ao{ vftlftr d <r i soo tut d ti1
(5x4X 300)=60 l&ieF

qii ided so 2,oool 1,40,000i-

|q) li{dl s,rrE q Ffti ,rpJ or fuorno qli qr+
5o{ ulii+r ni er ii os H d li1
(1X4X 6s)=260fueF
(,r) qfii lEGr o5o tuo qro cfdfir idi q.{ it Fj{
d i-q ( 0.5X4X365)= 730 th.d
td Tlgfid qll s'rEtr

lo+El+.r) = 69 96 11u2.. orrfi 70 ftiea

qlrr: (1+2+3) 3,24,700t-

(rv) 1@ {q ({ qe :

(6) ga-ro rgeit w 12 clisn ol ri rl (2.ooooo x 12a/") 24 AAA1

{q)

ifi *"r w q. rz qfuft d <1 d
(qrqrq qiA 96,000 x 12%) 11524L-
(3tqfud qrfi/qrqii 65,616 x 12o/a) 7,874/

qd qiT (qrqrq 
"nfft): 35,520t-

qd d,r (3rgqtu( qft/sirnTft):- 31,4741-

(F)
gir qcrftd Er 14,ooo ifto oT Ta. s0 35/- qli die.l qi <1 i 35 x
14,000 fro 4,90 000/-

(q) 2 qld +1l?di so 26,000l- qli qrd dl <! t 52,AAat

o 2 sr6r !i lid -o s ooo. qfil qET dI <' fi 16,000/-

(q) .r+r tT fi ft-d) (lao x 20) 2,800/-

gd qlrT: 5,60,800/-

(6) ),241jjt-
(q) q{ dlqr q{ qi G%) cld{4 12,AAAL

f,r) rq rr4i Tir rrg tsldsr q{ q{ cft ird 5,000/

q.I qlrr:- 3,41,700t-

(q.rq .{q) = Fo 6,60,800 - 3,41,700) = 60 2,19 10Ot

ftcJ< dq (fl.r T.q {rr G {<)
50 (2,19100 - 35,520) = 50 1 83,580i-

3.-10 Gii/q=rqii
qq siFR 4 E--r TR d gqrs qi* o1 {6 {or{ T,{rF}d 6.,t w \,o sd C srqrq qlqtr d nq so

1,83,580/- \rs 3EqiAd qft/q{qft d fi\' Fo 1,97,226l- ?itr ftqq drr{ Et.n I

lcrar .rq f+om qcrElorfr
6r qlq v4 qEqrq €Rf, qFr
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qq{ rfq ftoltl dqnl 2017-1s

g=:rd {R d 06 qqrs qisfr sfffu 3rcft qMv{r ffide{
qlqfl o1 orElo sq lqr

l l3rrqrrxf, s{f, -1=E flt [qr gqTs
d qcErn soo fiii di enlt i rsoo

frer (rT ifr rcio qffi os fic d
ft-gd :rqB it si,i qEq sT Bfiq
ftqlc d qffi dr A rFq fuir qdqr

2 roffi qrqere'

qdt ard n edgclln qffi ol {i{ar 6

l'rrr Err - ot-{". T EU 
_--qe, 12 il"r

3 qffi qdeft qfdfu{ al{r q'1 orr{{{ddr

(r) (q ?i +1 e,-d+ q-
ETi 

"ri]
20 160 qlo

gEr 
"rT-

5 fto rro

rrgfio r11 :lttrr 5 fto rro

.b) ftg€r rffif* n
€{T :IITI 15 JAo rllo

lsr qRT 7 f-o rto

rrEfio qE ercx 1 fuo rlo

Fl-nq qrq{rs :

96 sqd i={d d qm d dqd so 50,000^

fi irc' q+ qi Fi$i Fr T{ 50 351-

-{lqff{d qrl emn or dlqo qli fuo Tro- 50 201-

Eq qT{r 6r Xo vft 1}o mo

rIsT qr<r mr 1o ufi f6o lio

rs roTq sq vg litaer w oa ffi a{) vfr god- $o 7,5001

qft .rn tT M t erq



2

ts=Td rw trr 06 gq|s q.iqii a1 d-s d Eq tgl qia ffil

(l) {m.rd qd ,

1 gq-Fr qffi-06 fi? gu.rc +ffi r"o bo,oool- ibji qa i
ffi 1i+n:.soo der qt ti d amdi) (6x50ooo/ )

3,00 000/,

qX ffqr (Fifuc firr {rl-d) Fq {d qtT 6% dl <1 d so 3,oo.ooo/ X 6% 18 000/

vr1ercr l?rl"r w oe an 42,AAAl

td rrRr ($o) 3,60,000i-

Td gfld o1 ia{rq{r w qq ol 6q lsr'

tF0

1
qtTn ,rr ta afir qc (efc -rLd) $0 3,60,000/

2 n1ftr sl 3inell - 5o 36.000l- (ro%)

3 {ll:q qioI{ dI{r qSqrl so r.8o.ooo/ (50%)

lia 1,44,000 / - l|aak)

0t) cid-4d iiRr qs <nr +1 enav+oor ig c{si o1 q6 {ddqt c,=r srod{ ftq r6R t,

0 ) {6 sS $ gvr am. en am go {rqfua ccJ qrdR (<rjr) al 3flasqdr Tq vsar {q:

c€I ar ft{rq qgTI qF E6d

I glns cffi 6 6

2 qEr. qrfuqi 6 3

t2 9

,F0 q{ (so) -[.q Fo)
1 , lp - o. ;o , o qr irn i -t oi --e-

.fr't r< t p ii r$t o'0fi :oo tui d fin
(!x9x300)=13sftjed

cft ftFred so 5ool 88 000/-(Er) q.n 4q 07 fuo. rro qft ac{a {6r{ sfdlt{
fr <r i fttEdr orqlir 65 frt d lil
(7 X I X 6s)= 40 95 f*i-a
F+rs) = 175.95 1i!zd, 3rqll 176Idied.



(v)

ft)3q,

(z) oo :

3
2 (F) 6ir qrri 20 lao ,lo qft .]q{q iq-r{ cftlir dt

c{ rl (tr ti d 3-ir1B 3oo ffif d ftiI
(20X9X300)=540fti-d

cfil lhed 60 3oo,/ 1,88 400/-(rq) 6,ir -fill i5 li'o rro qli irr]aq itrl{ eftfur a1
<r d ftgdr o-oFt os fui d ft.t
(15 X I X 65)= 87 75 fd-cd
l.r,+73) = 627 75 fft]i:d q,rlE 628 ffi-ir
$qt.d 'tE 

q-Eri
(6) (tr ti +1 3rstr n qfr ,l{ 05 ftForro qft qw
lod qfilir +li s{ t 3oo 1-t d iil
(s X6 X 300)= 90 tu-d

qft ftFied 60 2.ooo/- 2,10 000i -

(q) Iigd cqE n rli cI or liFoqo qft qs
{6rg qfrf{r ftl q{ € os ldi $ lirr
(1XO X 65)= 3 90 fui-d
(,r) qfi qtcr o.5o li'o lro fl?j?-r +1 <r d $ d
d ftd ( 0.5 x 6 x 365)= 10.9s liqed
qd i.rglid ql 3nEri
(o+e+rt1 = 164 65 fu'ca 3''rF 105liqcd

Ed drrr, (1+2+3) 4,86,400/-

(rv) 1@ (lq f4 q< :

(o) gqls c$n q{ rz qlileld !i q{ i (3,oo,ooo x 12%) 36,000/

(q)
io f,."r w {d( rz qftgro o1 <.r r}
(qm< 1,44 000 x 12%) 17,2841--

qd strr (qrqrq):- 53,280/-

(tr) Ed srli:{a q:r 21.ooo A0 61 T:q Fo 35l qfi dl-{ ol <.{ r} 35 x
21 000 dro 7 35,000/

(s) s sld si ld 60 26 ooo/- qft qd o1 !.s rl 78 000/-

(.r) 3 qlET dl ii'ni $o s.oool cfti ElEr +1!.{ d 24 0001-

(,r) .rff A,T o1 lid (210 x 20) 4 2001-

8,41,200r-

(tr) qm T4 <FII rR Etq 4,86 400/,

(q) qq fffl qI qJ (6%) cfiE{ 18,000/-

('r) 7q-7sTq rr.r qI lnilqr q, s{ qfi q{ 7 500/-

5,1'1,900/-

(c.rq qq) = Fo (841,200 5,11 900) = s6 3,29,aoor-

ftg< orq
(d.r Tq <Ilr G {s)
50 (3,29,300 - 53,280) = 5o 2 76.020/

a{I s6R 6 s-ld Tw d gqrs {iff a1 \-6 {6d rerrfu( sri w
go sd d so 2,76,020t 6T fi{Jq drr El,n.t

fuar rrq f+om qsrftrdrfi
6T Crq \rE qq q qRa qFr
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il{d a-w djo Eqre qi{fr d&qr 3rdfd qfu"1ifu

3nqrtTI qrqdrq:- T{.r d q.d6 g!,'TF

d q:aq soo feqi o1 3rofal i :soo der
qu i,n rdo rtrt os 1-r ol ligd
srEfu i { l r qrTq qr 1ffiq ftflr di
qd ot ff oq fuqt "n$q t

r*-61 qrrcrs:

ro lo{ t e€ qt.lrn qdt 41 rrsl 10

q r. -TeF J qtr?, ,r-qd (!. - ud- 12 A-e{

3 qli qM sf ii{ { 01 sr{{{ddr

r ) q4 l-t i rr-qJ* q 6{t sT{i 20 GFo qro

sqr qTn 5 T60 TJTO

rd d rrl 1-rEr. 5 T60 qtO

(r) 1i.gdr 3rqtu S 64 qT?T 15 J:Fo qro

Eei aRl / tirio tta

+igfuo w] rnor 1 fuo rro

4 ffiq qrq(w :-

Tm irqd r({ di qNt ril olTd 50 50,0001

qtj d-c" *r d fu{'"r 6T T;q s0 35/-

.rlfild qrl ;'rEl' Tr ch4 qfi 1?-0 'lT0- 50 201-

d{I-qRr 61 1a vli fuo mo-

llgl ?hl 6r {3 qfr fuo 'no $0 5l-

rs csr-r \ti !{ ftfu€T q( 4rl (qft sd) cfr a{d- FO 12,500/-

qft'r .r+ nq f:rfi i srq rno 2AL
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!:rd N ql! €qr6 qArfr d qlq{r 01 5q tqr sfi-tq'rd

tr) {dr< qd :

{6 E6d al Ta{rc{i q{ qq ol sq tqr,-

iFo fus{'r
qrqTr q, .!d afin qq Pre r{iid) F0 6,00 ooo /

2 dtIF iFr 3iqcl:] - so 60.000/ (10%)

3 {rq qroR Elr] c'1EF Fl] 3.OO,OOO/ (50%)

FO 2,4O,OOO/ (40%)

pq vla ad am *i qnr @1 3lrs.{6dr iq qg3i o1 qw godqi ot errfd.r liq rdrt i,-

( t) gr sd i grEII ?r{t. Elr 
"r{i 

\rE rrgfu-d qg srdR (<rrr) 4,1 q'r45.l6dr {4 s{6r a@,

1 gcrs qffi-10 cii gs,.r6 qffi FO 5o,oool dr <1 i
(e1i ff{l{ 3,500 der qF ii d erffr) (io x 5o.ooo/ )

5,00,000/-

qE AI1 eiiic dq l]Fd) r-n {:{ .Fl bo.o f ,l -o sooooo X .". 30,000r

{:rrdr ff'qfur G 3rq 4q 70 000/-

{3 ni?r (50) 6,00,000/-

iF0 q{ or ltrfirr {gTT q€ {6d

sqrs qffi 10 10

2 qEr, qfud 10

20 15

tF0 T{ (Fd) 1"q Fo)
1 ,. .T$ !r 05 fl o ' o qt' r[- 3T3 o'i'?:

d <1 I er ii d 3rsel 3oo ftil ii li{
(5 X15 X 300)= 225Iftied

qft fuie? Fo 5ool I,47,AAAI-
(?c) {qr sRT 07 fuo. Tro. cii {{s Eor$ q'rali-l

ol <r rl j?-gdr +nfu os fut d 1ir
(7 X 15 X 65)= 68.25 i&ieir
(a+rs) = 293.25 ftjed, 3rqtd 294 J&iea.

2 (.F) 6ir qRr 20 foo .-Iro qld .lqrs {od cidr{r al
<r ri q+ ii +:t ontl roo Hi d Iir
(20 x 15 X 300)= 900Iftied

lii fued Fo 3ool- 314,1001-(q) flr qRr rs fuo 'ro cfd E{{4 ard jrF
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(tv) Tler {q \4 {< :

(2) arq ,

3,50 000/qli li-iea Fo 2.ooo/

q-''i 1u ii a 
"no 

i fii +1 or iloino riil or+
qiifuj f !' q roo 1;r] 6 li!

(5 X 10 x 3oo) = 150 liaed

(rq) i:Nldi et4ltll n e]d 'ql 01

r-{ rfum a -- t os lht d jit
(1X 10 X 6s) = 6 50 i*ieir

T.j !i.-, aog o5o fto .rro !1ilir "fi sr rl
d li{i ( o 5 x 10 x 365)= 18 25 Fsed
iFd rr{-"fi c"\ tl"l-
tr+r+rt= tzq.;s iiqe= x4lr 175 riii-"r

8,11,100i -6F .rl.r,- 11+2+3)

qE3rl tR 12 qhsn qi <r i (5 oo ooo x 12%)

i{ *'r qr {di 12 qia{d dt <1 i
(rrrqrq 2,40 ooo x 12%)

(1) 3nq,

12 25 000i -

3s 000 Ao

u .gt ft-n to 26.000/ cli qid qi <- i

i*"r *l litt roo e,ooo,/ cFd tr qi qld

.rfi iq dt i:Fbl (350 x 20)

14,02,000/-qa dr,

iml \,I <lTt q'{ @{

Jrn F .dJ /6%l ,ll?aF{

8,1T 100/

30,000/-
\e, lr' .:;
I rJo Tel;

{,.1 't

12,500/-

8,53,600/-

1"n" *q so (14,02,000 - 8 53,600) = 60 5 48'4001

(.{.r - Td qnr f4 W)

$o (5,4s 400 - 88,800) = 60 4 59,6001

fl qq.R 1ti=ri r€; tqr.. Fdn; Tn s+c .Jrrq=r +ri 'F' ' 
f6 qq q ,.0 +.ig eoo/- 6l hsF 'r@ n'l 

'

ftfl .ra fd6l{ rlETFffir€I

6r crq Ts qe'aFl qFd 5E{



qujq ftorq qlqil ?!41q
ffdtrr q{fi{./E q siq qcfi{ Ts g.T Nfl"r Tq'

qlnr F{l 3fi-dnE{)

{@li-6 F@f-€{

soo drqs etqdr dlodo de r{Fd
'11,00 000/-11,00,000rr.ooo iiat erqdr €ofro dd {{Fd

r6,50 000/-16,50,0001:.ooo der erqot Jlofro rie qEa

18 70,000118,70 0001
5 ooo d1r- sffdl Sodro + "rFd

F --, n.n , * oo #t- e ot oll go 3Fnrs ofuoqq 'Ts \50 20 00 000/-
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6r crq \.q qflq qRd gE{
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2,00,000/- (10%)
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wg f,dfrs qitr{r-"s1lilg

?cff {.q.tsrsi d Frqfq d ftd 3qff sq I Zsqoc"li
d 6q dl qiq{ 41 cnfofo sq ist

170,0001rqi{ dn{ wfti d {anqji (50 fuoero cfiLr)
2,s0,000i'2,50 000/-qfR ildtT q{ir d e,TrrT (a0 foO.lTo c1ilfu{)
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m nfun qrlln d {s,-lq{r (100 fuo.lTo gfiBr)

qr" El {qqrl (roo Ser vfiRr)
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q.+ ffl3 qtt Ta.IFl{l {r lzrq d rsq lq'
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ffidr rrq furrq q<rftrdRl
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cR ETdi 5o 22,100/- dl <a rl
15X22,140L

. dor qqq d qld-rs

nq g@616% ollqli
Rs 3,31,500 X 6%

q{llrdr i+|fuT CE orq 'qq

3,96,000/-

9+ 5o( a;l {e{TtFfl q !{rq d '5q lql:

fudrrd fffre q{rfu{r0
6r qrq {s qfirq qr€d 56{
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fro ldfiEr {rfir (Fo)

rrf,{ T{ d q[dl-20 qii {ll}l so 22,100/ d s{ i
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(iifi1e dqr irtrd)
Fq5@6T6% si<ri
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3 qgqrdr F-qfur Ts crq qq
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ea d.r, 5,28,000/-

g+ god +1 \a{rr-l q{ .4q ol Ea iq.-

fuar .rq laom q<rleroffi
6r qrq 1-d q-{iq qFd gE{

FO ft{wr
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2 iTtSs oI s1:Et=l 52,8AAt- (A%)
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